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Time : 45 minutes Maximum Marks : 38

Instructions for the candidates :
1.

2

Each question carries 1 (one) mark.
For each correct answer, 1 {one) mark will be given.

l 3. The qualifying marks for written test for all the candidates belonging to UR and SEBC is
14 marks and that of SC & ST is 12 marks out of total 35 marks.

There is no minus marking or negative marking for any wrong answer.

No mark will be deducted if any question is not atlempted.

In each question, only one out of the four alternative answers is correct.
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Find out the correct answer from the four choices given below each question and darken the

appropriate circle against the question number in the OMR answer sheet using black/blue
pen only.
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Fill in the blanks with the appropriate words from the choices given below :

1. A picture is worth a thousand

A) birds B) words*
C) sequence D) sayings
2. The police needed details could help identify the dacoit.
A) who B) whatever
C) that " D) what

3. Dad and myself painted the tractor
A) myself B) himself

C) itself D) ourselves +—

Fill in the blanks with appropriate conjunctions or words :

4. | would like to thank you __ the lovely gift.
A) or B) and
C) for v D) yet
5. | am getting good grades ____ | study everyday.
A) because - - B) but
C) yet D) or

6. She drives her car at eighty miles

A) each hour B) every hour

C) an hour D) hourly -
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Choose the correct answer :

s

10.

11

12.

13.

What is the synonym of ‘damage’?
A) Harm « B) Decline
C) Shine D) Waste
Select the related letters from the given alternatives :
GFEH : RGPS :: LKIM : ?
A) WLUX B) VUWX
C) LKNM D) IHJG ‘
If [3ELH1 is coded as 73541 and CALCUTTA as 82589662, then how will CALICUT be
coded?
A) 5279431 B) 5978213
C) 8251896 L - - D) 8543691
If 4%5—-1=514, 3%5-6 =563, then 0%6-8="7
- A) 860 us B) 806
6) 680 " D) 068
A is the brother of B. B is the daughter of C. D is the father of A. Then how is C related
to D?
A) Wife v — . . B) Husband
C) Granddaughter D) Sister
What should come in the place of question mark (?) in the following alphanumeric
series?
1CV, 5FU, 9IT, ?, 170R
A) 11LS B) 13LG
C) 14JS D) 1S ~—
In a row of 16 boys when A was shifted by two places towards the left, he became 7th
from the left end. What was his earlier position from the right end of the row?
A) Tth B « 8 s
C) 6th D) 10th
3 g @ [P.T.O.
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A word is given followed by four other words, one of which can be formed by using the
letters of the given word, then find the word :
MEASUREMENT

A) ASSURE B) MASTER ‘-

C) MANTLE D) SUMMIT

A student scores 17 marks out of 85. What is his percentage of marks?

) X

Ay 19 B) 15 A 40

C) 20 D) 17 "i’/’?g
18x4-3x8+2x6=? [oDMAs

A) 0 + B) 70

C) 20 D) 30

The capacity of a tank is 700 litres. If %th of the tank is empty, then how much water is
there in the tank?

. ‘\‘\0 = l",‘.-j\o

A) 420 litres B) 280 litres\— 0% :}

C) 200 litres D) 400 litres 00 ~4%°

If #720 is to be divided in the ratio of 1: 2 : 3 between Ram, Shyam and Mohan, then
how much will Shyam get out of ¥720?
A) 240 - B) 120 «=>

C) 360 D) 150

If a salesman sells an article at ¥840, then he gets a profit of 5%. What is the

purchase price of the article?

A) 650 B) 800 —
C) 600 D) 750

Divide 85 in the ratio of 8:9.

A) (50, 35) B) (40, 45) v
C) (35, 50) D) (45, 40)
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Find the value of (4-5)-(13-18+2).
AY i B) -2
C) 1 D) 2 \

Which is not located on the banks of Mahanadi?
A) Sambalpur B) Cuttack
C) Puri._ - D) Birmaharajpur

Find out the odd one from the following.
A) Hydrogen B) Helium
C) Air.— D) Carbon

Dr. Abdul Kalam Island is located in which State?

A) West Bengal B) Andhra Pradesh
C) Tamil Nadu D) Odisha —

Gahirmatha Marine Sanctuary is famous for which animal?

A) Crocodile / B) Olive ridley turtle "

C) Mugger D) Fish

India is situated in which hemisphere?
A) South hemisphere B) North hemisphere
C) East hemisphere D) West hemisphere

Roger Federer is associated with which sport?

A) Hockey B) Football
C) Tennis v« D) Baseball

What were the last words of Mahatma Gandhi?

A) ‘Om Shanti Shanti’ B) ‘Jai Bharat’
C) ‘Hey Ram’' . D) ‘Wahe Guru’
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